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SECTION A : 50 MARKS 

BAHAGIAN A : 50 MARKAH 

INSTRUCTION:  

This section consists of TWO (2) essay questions. Answer ALL questions. 

ARAHAN : 

Bahagian ini mengandungi DUA (2) soalan esei. Jawab semua soalan. 

1. Referring to Figure A1, calculate the line current of I1, I2, IT and draw the phasor

diagram of currents. Then calculate the total impedance, VR1, VR2, VL and VC.

Merujuk kepada Rajah A1, kirakan garis arus I1, I2, IT dan rajah fasor bagi arus.

Serta, kirakan jumlah galangan, VR1, VR2, VL dan VC.
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2. A 500 kVA transformer has a primary winding resistance of 0.5Ω and a

secondary winding resistance of 0.001Ω. The iron loss is 3 kW and the primary

and secondary voltage are 8 kV and 400 kV, respectively. If the power factor of

the load is 0.85, determine the efficiency of the transformer:

a) On full load

b) On half load

Pengubah 500 kVA mempunyai rintangan lilitan primer 0.5Ω dan rintangan 

lilitan sekunder 0.001Ω. Kehilangan kuasa iron ialah 3 kW dan voltan primer 

dan sekunder masing-masing 8 kV dan 400 kV. Jika faktor kuasa pada beban 

adalah 0.85, kirakan kecekapan pengubah pada: 

a) Pada beban penuh

b) Pada beban separuh
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